






Point R is 5m west of point Q. Point P is 16m north of 
point Q. Point R is 25m south of point T. Point T is 
10m west of point V. Point V is 9 m north of Point J.
ब िंदु R, ब िंदु Q से 5 मीटर पबिम में है। ब िंदु P, ब िंदु Q से 16 
मीटर उत्तर में है। ब िंदु R, ब िंदु T से 25 मीटर दबिण में है। ब िंदु T, 
ब िंदु V से 10 मीटर पबिम में है। ब िंदु V, ब िंदु J से 9 मीटर उत्तर में 
है।



Point R is 5m west of point Q. Point P is 16m north of 
point Q. Point R is 25m south of point T. Point T is 
10m west of point V. Point V is 9 m north of Point J.
ब िंदु R, ब िंदु Q से 5 मीटर पबिम में है। ब िंदु P, ब िंदु Q से 16 
मीटर उत्तर में है। ब िंदु R, ब िंदु T से 25 मीटर दबिण में है। ब िंदु T, 
ब िंदु V से 10 मीटर पबिम में है। ब िंदु V, ब िंदु J से 9 मीटर उत्तर में 
है।

Point J is at how much distance and in which irection
with respect to point P?

(a) 10m, South-east
(b) 5m, South
(c) 5m, East
(d) 10, North-west
(e) 5m, West



Point R is 5m west of point Q. Point P is 16m north of 
point Q. Point R is 25m south of point T. Point T is 
10m west of point V. Point V is 9 m north of Point J.
ब िंदु R, ब िंदु Q से 5 मीटर पबिम में है। ब िंदु P, ब िंदु Q से 16 
मीटर उत्तर में है। ब िंदु R, ब िंदु T से 25 मीटर दबिण में है। ब िंदु T, 
ब िंदु V से 10 मीटर पबिम में है। ब िंदु V, ब िंदु J से 9 मीटर उत्तर में 
है।

If point W is west of point J and north of point R, 
then what is the distance between T and W?

(a) 15m
(b) 9m
(c) 12m
(d) 10m
(e) 5m



Point R is 5m west of point Q. Point P is 16m north of 
point Q. Point R is 25m south of point T. Point T is 
10m west of point V. Point V is 9 m north of Point J.
ब िंदु R, ब िंदु Q से 5 मीटर पबिम में है। ब िंदु P, ब िंदु Q से 16 
मीटर उत्तर में है। ब िंदु R, ब िंदु T से 25 मीटर दबिण में है। ब िंदु T, 
ब िंदु V से 10 मीटर पबिम में है। ब िंदु V, ब िंदु J से 9 मीटर उत्तर में 
है।

What is the direction of Point V with respect to Point 
R?

(a) north
(b) south-west
(c) north-east
(d) south
(e) north-west



Nine persons are sitting in a row. Some of them are facing 
North and some are facing South. P sits 2nd from one of the 
extreme ends. Two persons sit between P and R. S sits 3rd to 
the left of R. U sits 2nd to the right of S. Immediate 
neighbors of S faces opposite to S. T sits 2nd to the right of 
U. W is an immediate neighbor of T. Persons sitting in an 
extreme end are facing opposite direction to each other. P 
sits 2nd to the right of T. W and P doesn’t face North. Q sits 
2nd to the left of V. X doesn’t face south.
नौ व्यबि एक पिंबि में  ैठे हैं। उनमें से कुछ का मुख उत्तर की ओर है और 
कुछ का मुख दबिण की ओर है। P बकसी एक अिंबिम छोर से दूसरे स्थान 
पर  ैठा है। P और R के  ीच दो व्यबि  ैठे हैं। S, R के  ायें से िीसरे 
स्थान पर  ैठा है। U, S के दायें से दूसरे स्थान पर  ैठा है। T. अिंबिम छोर 
पर  ैठे व्यबि एक-दूसरे के बिपरीि बदशा का सामना कर रहे हैं। P, T के 
दायें से दूसरे स्थान पर  ैठा है। W और P का मुख उत्तर की ओर नहीं है। 
Q, V के  ाई िं ओर दूसरे स्थान पर  ैठा है। X का मुख दबिण की ओर 
नहीं है।



Nine persons are sitting in a row. Some of them are facing 
North and some are facing South. P sits 2nd from one of the 
extreme ends. Two persons sit between P and R. S sits 3rd to 
the left of R. U sits 2nd to the right of S. Immediate 
neighbors of S faces opposite to S. T sits 2nd to the right of 
U. W is an immediate neighbor of T. Persons sitting in an 
extreme end are facing opposite direction to each other. P 
sits 2nd to the right of T. W and P doesn’t face North. Q sits 
2nd to the left of V. X doesn’t face south.
Who among the following person sits 3rd to the right of U?

(a) P
(b) R
(c) S
(d) T
(e) None of these



Nine persons are sitting in a row. Some of them are facing 
North and some are facing South. P sits 2nd from one of the 
extreme ends. Two persons sit between P and R. S sits 3rd to 
the left of R. U sits 2nd to the right of S. Immediate 
neighbors of S faces opposite to S. T sits 2nd to the right of 
U. W is an immediate neighbor of T. Persons sitting in an 
extreme end are facing opposite direction to each other. P 
sits 2nd to the right of T. W and P doesn’t face North. Q sits 
2nd to the left of V. X doesn’t face south.
How many persons are sitting between P and S?

(a) Two
(b) Three
(c) Five
(d) Four
(e) One



Nine persons are sitting in a row. Some of them are facing 
North and some are facing South. P sits 2nd from one of the 
extreme ends. Two persons sit between P and R. S sits 3rd to 
the left of R. U sits 2nd to the right of S. Immediate 
neighbors of S faces opposite to S. T sits 2nd to the right of 
U. W is an immediate neighbor of T. Persons sitting in an 
extreme end are facing opposite direction to each other. P 
sits 2nd to the right of T. W and P doesn’t face North. Q sits 
2nd to the left of V. X doesn’t face south.
Who among the following pair of persons are sitting at 
extreme end?

(a) S-V
(b) V-X
(c) P-W
(d) P-X
(e) None of these



Nine persons are sitting in a row. Some of them are facing 
North and some are facing South. P sits 2nd from one of the 
extreme ends. Two persons sit between P and R. S sits 3rd to 
the left of R. U sits 2nd to the right of S. Immediate 
neighbors of S faces opposite to S. T sits 2nd to the right of 
U. W is an immediate neighbor of T. Persons sitting in an 
extreme end are facing opposite direction to each other. P 
sits 2nd to the right of T. W and P doesn’t face North. Q sits 
2nd to the left of V. X doesn’t face south.
How many persons are facing South?

(a) Two
(b) Three
(c) Four
(d) Five
(e) None of these



Nine persons are sitting in a row. Some of them are facing 
North and some are facing South. P sits 2nd from one of the 
extreme ends. Two persons sit between P and R. S sits 3rd to 
the left of R. U sits 2nd to the right of S. Immediate 
neighbors of S faces opposite to S. T sits 2nd to the right of 
U. W is an immediate neighbor of T. Persons sitting in an 
extreme end are facing opposite direction to each other. P 
sits 2nd to the right of T. W and P doesn’t face North. Q sits 
2nd to the left of V. X doesn’t face south.
Four of the following five are alike in certain way based 
from a group, find the one which does not belong to that 
group?

(a) V
(b) Q
(c) W
(d) X
(e) P



There are six ropes i.e. E, F, G, H, I and J of different 
lengths. F is longer than E. I is longer than F. I is shorter 
than only G. J is longer than F. E is not the shortest rope. 
The length of 2nd longest rope is 54cm and 3rd shortest rope 
is 30cm. 
छह रबस्सयााँ अथााि ्E, F, G, H, I और J अलग-अलग लिं ाई की हैं। F, 
E से लिं ा है। I, F से लिं ा है। I, केिल G से छोटा है। J, F से लिं ा है। E 
स से छोटी रस्सी नहीं है। दूसरी स से लिं ी रस्सी की लिं ाई 54 सेमी है 
और िीसरी स से छोटी रस्सी 30 सेमी है।



There are six ropes i.e. E, F, G, H, I and J of different 
lengths. F is longer than E. I is longer than F. I is shorter 
than only G. J is longer than F. E is not the shortest rope. 
The length of 2nd longest rope is 54cm and 3rd shortest rope 
is 30cm. 
छह रबस्सयााँ अथााि ्E, F, G, H, I और J अलग-अलग लिं ाई की हैं। F, 
E से लिं ा है। I, F से लिं ा है। I, केिल G से छोटा है। J, F से लिं ा है। E 
स से छोटी रस्सी नहीं है। दूसरी स से लिं ी रस्सी की लिं ाई 54 सेमी है 
और िीसरी स से छोटी रस्सी 30 सेमी है।

Which of the following is 3rd longest rope?

(a) I
(b) J
(c) F
(d) E
(e) Can’t be determined



There are six ropes i.e. E, F, G, H, I and J of different 
lengths. F is longer than E. I is longer than F. I is shorter 
than only G. J is longer than F. E is not the shortest rope. 
The length of 2nd longest rope is 54cm and 3rd shortest rope 
is 30cm. 
छह रबस्सयााँ अथााि ्E, F, G, H, I और J अलग-अलग लिं ाई की हैं। F, 
E से लिं ा है। I, F से लिं ा है। I, केिल G से छोटा है। J, F से लिं ा है। E 
स से छोटी रस्सी नहीं है। दूसरी स से लिं ी रस्सी की लिं ाई 54 सेमी है 
और िीसरी स से छोटी रस्सी 30 सेमी है।

What may be the possible length of J?

(a) 28cm
(b) 42cm
(c) 25cm
(d) 55cm
(e) 60cm



There are six ropes i.e. E, F, G, H, I and J of different 
lengths. F is longer than E. I is longer than F. I is shorter 
than only G. J is longer than F. E is not the shortest rope. 
The length of 2nd longest rope is 54cm and 3rd shortest rope 
is 30cm. 
छह रबस्सयााँ अथााि ्E, F, G, H, I और J अलग-अलग लिं ाई की हैं। F, 
E से लिं ा है। I, F से लिं ा है। I, केिल G से छोटा है। J, F से लिं ा है। E 
स से छोटी रस्सी नहीं है। दूसरी स से लिं ी रस्सी की लिं ाई 54 सेमी है 
और िीसरी स से छोटी रस्सी 30 सेमी है।

Which of the following is 2nd shortest rope?

(a) J
(b) F
(c) E
(d) H
(e) None of these



J is married to C. B and D are the children of C. D is 
married to daughter of K, who is married to M. K is mother 
of R, who is husband of N. H is the grandson of C and K. L 
is daughter of N. V is only sibling of H. D has only one 
daughter.
J का बििाह C से हुआ है। B और D, C के  च्चे हैं। D का बििाह K की 
 ेटी से हुआ है, बिसका बििाह M से हुआ है। K, R की मााँ है, िो N का 
पबि है। H, C और K का पोिा है। L, N की  ेटी है। V, H का इकलौिा 
भाई है। D की केिल एक  ेटी है।



J is married to C. B and D are the children of C. D is 
married to daughter of K, who is married to M. K is mother 
of R, who is husband of N. H is the grandson of C and K. L 
is daughter of N. V is only sibling of H. D has only one 
daughter.
J का बििाह C से हुआ है। B और D, C के  च्चे हैं। D का बििाह K की 
 ेटी से हुआ है, बिसका बििाह M से हुआ है। K, R की मााँ है, िो N का 
पबि है। H, C और K का पोिा है। L, N की  ेटी है। V, H का इकलौिा 
भाई है। D की केिल एक  ेटी है।

How is D related to K?

(a) Son
(b) Wife
(c) Son in law
(d) Daughter
(e) None of these



J is married to C. B and D are the children of C. D is 
married to daughter of K, who is married to M. K is mother 
of R, who is husband of N. H is the grandson of C and K. L 
is daughter of N. V is only sibling of H. D has only one 
daughter.
J का बििाह C से हुआ है। B और D, C के  च्चे हैं। D का बििाह K की 
 ेटी से हुआ है, बिसका बििाह M से हुआ है। K, R की मााँ है, िो N का 
पबि है। H, C और K का पोिा है। L, N की  ेटी है। V, H का इकलौिा 
भाई है। D की केिल एक  ेटी है।

If T is daughter of K, then how is T related to D?

(a) Wife
(b) Son in law
(c) Daughter
(d) Husband
(e) None of these



J is married to C. B and D are the children of C. D is 
married to daughter of K, who is married to M. K is mother 
of R, who is husband of N. H is the grandson of C and K. L 
is daughter of N. V is only sibling of H. D has only one 
daughter.
J का बििाह C से हुआ है। B और D, C के  च्चे हैं। D का बििाह K की 
 ेटी से हुआ है, बिसका बििाह M से हुआ है। K, R की मााँ है, िो N का 
पबि है। H, C और K का पोिा है। L, N की  ेटी है। V, H का इकलौिा 
भाई है। D की केिल एक  ेटी है।

How is L related to K?

(a) Wife
(b) Granddaughter
(c) Daughter
(d) Son
(e) Grandson



J is married to C. B and D are the children of C. D is 
married to daughter of K, who is married to M. K is mother 
of R, who is husband of N. H is the grandson of C and K. L 
is daughter of N. V is only sibling of H. D has only one 
daughter.
J का बििाह C से हुआ है। B और D, C के  च्चे हैं। D का बििाह K की 
 ेटी से हुआ है, बिसका बििाह M से हुआ है। K, R की मााँ है, िो N का 
पबि है। H, C और K का पोिा है। L, N की  ेटी है। V, H का इकलौिा 
भाई है। D की केिल एक  ेटी है।

Who is father of R?

(a) M
(b) D
(c) B
(d) J
(e) C



Four of the following five are alike in certain way according 
to English dictionary form a group, find the one which does 
not belong to that group?
अिंगे्रिी शब्दकोष के अनुसार बनम्नबलबखि पािंच में से चार एक बनबिि 
िरीके से एक िैसे हैं और एक समूह  नािे हैं, िह ज्ञाि करें िो उस समूह 
से सिं िंबिि नहीं है?

(a) NLQ
(b) DBG
(c) HFK
(d) TRW
(e) XVY



Statements: 

Only a few Chart are Turbine
Only a few Turbine are Pores
Only a few Pores are fan 

Conclusions: 

I. Some fan is chart is a possibility
II. All fan are Turbine

(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow



Statements: 

All Beaches are Deltas
All Deltas are cushions
No Cushions is wave

Conclusions: 

I. Some Beaches can be wave
II. No Deltas is Wave

(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow



Statements: 

Only a few Aces are Club
No club is Jack
Only a few Jack are Diamond

Conclusions: 

I. Some Diamond are Aces
II. Some Aces are Jack

(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow



Statements: 

Some Apple are Banana. 
No Banana is Date

Conclusions: 

I. Some Date are not Apple is a possibility
II. All Apple can never be Date

(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow



There are ten persons J, P, Q, R, S, T, G, U, V and X living 
in a ten-floor building, such that ground floor is numbered 
as 1, just above the floor is numbered as 2 and so on the 
topmost floor is numbered as 10, but not necessary in the 
same order. P lives on the 5th floor. Only three persons live 
between P and V. T lives immediate above J, who lives on an 
odd numbered floor. S lives on one of the floors below R. 
Number of persons lives between J and P is same as number 
of persons lives between T and R. There is only one floor in 
between U and X. W lives on an odd numbered floor. R does 
not live on top floor. S lives on an odd numbered floor above 
X but not on seventh floor. V lives below the floor on which 
P lives. U lives above the floor on which X lives. Q lives on 
an even numbered floor above P but not on top floor.



दस व्यबि J, P, Q, R, S, T, G, U, V और स से ऊपरी मिंबिल पर 
सिंख्या 10 है, लेबकन िरूरी नहीं बक इसी क्रम में हो। P पािंचिीं मिंबिल पर 
रहिा है। P और V के  ीच केिल िीन व्यबि रहिे हैं। T, J के ठीक ऊपर 
रहिा है, िो बिषम सिंख्या िाली मिंबिल पर रहिा है। S, R के नीचे बकसी 
एक मिंबिल पर रहिा है। J और P के  ीच रहने िाले व्यबियों की सिंख्या 
T और R के  ीच रहने िाले व्यबियों की सिंख्या के समान है। U और X 
के  ीच केिल एक मिंबिल है। W एक बिषम सिंख्या िाली मिंबिल पर 
रहिा है। R शीषा मिंबिल पर नहीं रहिा है. S, X के ऊपर एक बिषम सिंख्या 
िाली मिंबिल पर रहिा है लेबकन साििीं मिंबिल पर नहीं। V उस मिंबिल 
के नीचे रहिा है बिस पर P रहिा है। U उस मिंबिल के ऊपर रहिा है बिस 
पर X रहिा है। Q, P के ऊपर सम सिंख्या िाली मिंबिल पर रहिा है लेबकन 
शीषा मिंबिल पर नहीं।



P lives on the 5th floor. Only three persons live between P 
and V. T lives immediate above J, who lives on an odd 
numbered floor. S lives on one of the floors below R. 
Number of persons lives between J and P is same as number 
of persons lives between T and R. There is only one floor in 
between U and X. W lives on an odd numbered floor. R does 
not live on top floor. S lives on an odd numbered floor above 
X but not on seventh floor. V lives below the floor on which 
P lives. U lives above the floor on which X lives. Q lives on 
an even numbered floor above P but not on top floor.

How many persons live between W and S?
(a) One
(b) Four
(c) None
(d) Three
(e) More than four



P lives on the 5th floor. Only three persons live between P 
and V. T lives immediate above J, who lives on an odd 
numbered floor. S lives on one of the floors below R. 
Number of persons lives between J and P is same as number 
of persons lives between T and R. There is only one floor in 
between U and X. W lives on an odd numbered floor. R does 
not live on top floor. S lives on an odd numbered floor above 
X but not on seventh floor. V lives below the floor on which 
P lives. U lives above the floor on which X lives. Q lives on 
an even numbered floor above P but not on top floor.

Who among the following Lives on topmost floor?
(a) V
(b) W
(c) T
(d) S
(e) U



P lives on the 5th floor. Only three persons live between P 
and V. T lives immediate above J, who lives on an odd 
numbered floor. S lives on one of the floors below R. 
Number of persons lives between J and P is same as number 
of persons lives between T and R. There is only one floor in 
between U and X. W lives on an odd numbered floor. R does 
not live on top floor. S lives on an odd numbered floor above 
X but not on seventh floor. V lives below the floor on which 
P lives. U lives above the floor on which X lives. Q lives on 
an even numbered floor above P but not on top floor.

Four of the following five are alike in certain way based 
from a group, find the one which does not belong to that 
group?
(a) Q
(b) X
(c) U
(d) W
(e) T



P lives on the 5th floor. Only three persons live between P 
and V. T lives immediate above J, who lives on an odd 
numbered floor. S lives on one of the floors below R. 
Number of persons lives between J and P is same as number 
of persons lives between T and R. There is only one floor in 
between U and X. W lives on an odd numbered floor. R does 
not live on top floor. S lives on an odd numbered floor above 
X but not on seventh floor. V lives below the floor on which 
P lives. U lives above the floor on which X lives. Q lives on 
an even numbered floor above P but not on top floor.

Who among the following lives immediate above Q?

(a) J
(b) W
(c) P
(d) S
(e) V



P lives on the 5th floor. Only three persons live between P 
and V. T lives immediate above J, who lives on an odd 
numbered floor. S lives on one of the floors below R. 
Number of persons lives between J and P is same as number 
of persons lives between T and R. There is only one floor in 
between U and X. W lives on an odd numbered floor. R does 
not live on top floor. S lives on an odd numbered floor above 
X but not on seventh floor. V lives below the floor on which 
P lives. U lives above the floor on which X lives. Q lives on 
an even numbered floor above P but not on top floor.

Which of the following statement is not true about U?

(a) U lives on 4th floor
(b) Two persons live between U and W
(c) V lives immediate below U
(d) P lives immediate above U
(e) All are true



Six persons are sitting around a triangular table. Persons 
who are sitting at corner are facing towards the table and 
the persons who are sitting at middle of the table are facing 
outside the table. A sits at one of the corners of the table. M 
is an immediate neighbour of A. Two persons sit between M 
and B. C sits immediate right of B. N is to the immediate 
right of O. O does not sit at any of the corner of the table.
छह व्यबि एक बिकोणीय मेि के चारों ओर  ैठे हैं। िो व्यबि कोने पर 
 ैठे हैं उनका मुख मेि की ओर है और िो व्यबि मेि के मध्य में  ैठे हैं 
उनका मुख मेि के  ाहर की ओर है। A मेि के एक कोने पर  ैठिा है। 
M, A का बनकटिम पडोसी है। M और B के  ीच दो व्यबि  ैठे हैं। C, B 
के ठीक दाएाँ  ैठा है। N, O के ठीक दाएाँ  ैठा है। O मेि के बकसी भी 
कोने पर नहीं  ैठा है।



Six persons are sitting around a triangular table. Persons 
who are sitting at corner are facing towards the table and 
the persons who are sitting at middle of the table are facing 
outside the table. A sits at one of the corners of the table. M 
is an immediate neighbour of A. Two persons sit between M 
and B. C sits immediate right of B. N is to the immediate 
right of O. O does not sit at any of the corner of the table.
Who sits second to the right of B?

(a) M
(b) A
(c) N
(d) O
(e) C



Six persons are sitting around a triangular table. Persons 
who are sitting at corner are facing towards the table and 
the persons who are sitting at middle of the table are facing 
outside the table. A sits at one of the corners of the table. M 
is an immediate neighbour of A. Two persons sit between M 
and B. C sits immediate right of B. N is to the immediate 
right of O. O does not sit at any of the corner of the table.
Who is sitting between A and N when counted from the right 
of A?

(a) C
(b) B
(c) O
(d) M
(e) None of these



Six persons are sitting around a triangular table. Persons 
who are sitting at corner are facing towards the table and 
the persons who are sitting at middle of the table are facing 
outside the table. A sits at one of the corners of the table. M 
is an immediate neighbour of A. Two persons sit between M 
and B. C sits immediate right of B. N is to the immediate 
right of O. O does not sit at any of the corner of the table.
Who sits immediate left of N?

(a) M
(b) C
(c) O
(d) B
(e) None of these



Eight persons A, B, C, D, E, F, G and H are sitting in a 

horizontal row. Four of them face north while rest face south. 

Not more than two adjacent persons face in the same direction. 

A sits second to the left of D. F sits to the immediate left of H. D 

and F are adjacent to each other. C is not adjacent to A but 

faces south. The number of persons to the left of A is one more 

than the number of persons to the right of him. B sits second to 

the left of G and both face in the same direction. C does not sit 

at extreme end. The person at extreme end face in the same 

direction.

आठ व्यबि A, B, C, D, E, F, G और H एक िैबिि पिंबि में  ैठे हैं। उनमें से 

चार का मुख उत्तर की ओर है ि बक शेष का मुख दबिण की ओर है। दो से 

अबिक आसन्न व्यबियों का मुख एक ही बदशा में नहीं है। A, D के  ायीं ओर 

दूसरे स्थान पर  ैठा है। F, H के ठीक  ायीं ओर  ैठा है। D और F एक दूसरे 

के बनकटस्थ हैं। C, A के बनकटस्थ नहीं है लेबकन दबिण की ओर उन्मुख है। 

A के  ाई िं ओर के व्यबियों की सिंख्या उसके दाई िं ओर के व्यबियों की सिंख्या 

से एक अबिक है। B, G के  ायीं ओर दूसरे स्थान पर  ैठा है और दोनों का 

मुख एक ही बदशा में है। C अिंबिम छोर पर नहीं  ैठा है। अिंबिम छोर पर  ैठा 

व्यबि समान बदशा की ओर उन्मुख है।



Eight persons A, B, C, D, E, F, G and H are sitting in a 

horizontal row. Four of them face north while rest face south. 

Not more than two adjacent persons face in the same direction. 

A sits second to the left of D. F sits to the immediate left of H. D 

and F are adjacent to each other. C is not adjacent to A but 

faces south. The number of persons to the left of A is one more 

than the number of persons to the right of him. B sits second to 

the left of G and both face in the same direction. C does not sit 

at extreme end. The person at extreme end face in the same 

direction.

Who sits immediate right of C?

a) G

b) B

c) A

d) E

e) F



Eight persons A, B, C, D, E, F, G and H are sitting in a 

horizontal row. Four of them face north while rest face south. 

Not more than two adjacent persons face in the same direction. 

A sits second to the left of D. F sits to the immediate left of H. D 

and F are adjacent to each other. C is not adjacent to A but 

faces south. The number of persons to the left of A is one more 

than the number of persons to the right of him. B sits second to 

the left of G and both face in the same direction. C does not sit 

at extreme end. The person at extreme end face in the same 

direction.

Four are the same in a certain way thus forms a group. Which 

among the following does not belong to the group??

a) B

b) H

c) D

d) G

e) A



Eight persons A, B, C, D, E, F, G and H are sitting in a 

horizontal row. Four of them face north while rest face south. 

Not more than two adjacent persons face in the same direction. 

A sits second to the left of D. F sits to the immediate left of H. D 

and F are adjacent to each other. C is not adjacent to A but 

faces south. The number of persons to the left of A is one more 

than the number of persons to the right of him. B sits second to 

the left of G and both face in the same direction. C does not sit 

at extreme end. The person at extreme end face in the same 

direction.

How many persons sit to the right of E?

a) Three

b) Four

c) One

d) Five

e) Six



Eight persons A, B, C, D, E, F, G and H are sitting in a 

horizontal row. Four of them face north while rest face south. 

Not more than two adjacent persons face in the same direction. 

A sits second to the left of D. F sits to the immediate left of H. D 

and F are adjacent to each other. C is not adjacent to A but 

faces south. The number of persons to the left of A is one more 

than the number of persons to the right of him. B sits second to 

the left of G and both face in the same direction. C does not sit 

at extreme end. The person at extreme end face in the same 

direction.

Who sits second to the right of G?

a) E

b) D

c) F

d) H

e) C



Eight persons A, B, C, D, E, F, G and H are sitting in a 

horizontal row. Four of them face north while rest face south. 

Not more than two adjacent persons face in the same direction. 

A sits second to the left of D. F sits to the immediate left of H. D 

and F are adjacent to each other. C is not adjacent to A but 

faces south. The number of persons to the left of A is one more 

than the number of persons to the right of him. B sits second to 

the left of G and both face in the same direction. C does not sit 

at extreme end. The person at extreme end face in the same 

direction.

Who sits immediate left of G?

a) B

b) C

c) D

d) F

e) H



Eight persons – E, F, G, H, I, J, K and L are sitting around a circle at 
equidistance but not necessarily in the same order. Some of them are 
facing towards the centre while some others are facing outside the 
centre. L is sitting 3rd to the left of K. Both K and L are facing 
towards the outside. H is not an immediate neighbor of K and L. J 
faces just opposite direction of H. (It implies tHunt if H is facing 
towards the centre, J would face outside the centre). J is sitting 2nd 
to the left of H. Both the immediate neighbours of G face just 
opposite direction of G. E is an immediate neighbour of K. Both the 
immediate neighbours of H face just opposite direction of H. E faces 
towards the centre and he is an immediate neighbour of both K and 
I. I faces towards the centre.
आठ व्यबि – E, F, G, H, I, J, K और L एक िृत्त के चारों ओर समान दूरी पर 
 ैठे हैं, लेबकन िरूरी नहीं बक इसी क्रम में हों। उनमें से कुछ का मुख कें द्र की ओर है 
ि बक कुछ का मुख कें द्र से  ाहर की ओर है। L, K के  ायें से िीसरे स्थान पर  ैठा 
है। K और L दोनों का मुख  ाहर की ओर है। H, K और L का बनकटिम पडोसी 
नहीं है। J, H के ठीक बिपरीि बदशा की ओर उन्मुख है। (इसका अथा है बक यबद H 
कें द्र की ओर उन्मुख है, िो J कें द्र के  ाहर की ओर उन्मुख होगा)। J, H के  ायें से 
दूसरे स्थान पर  ैठा है। G के दोनों बनकटिम पडोबसयों का मुख G के ठीक बिपरीि 
बदशा में है। E, K का बनकटिम पडोसी है। H के दोनों बनकटिम पडोबसयों का मुख 
H के ठीक बिपरीि बदशा में है। E कें द्र की ओर उन्मुख है और िह K और I दोनों 
का बनकटिम पडोसी है। I का मुख कें द्र की ओर है।



Eight persons – E, F, G, H, I, J, K and L are sitting around a circle at 
equidistance but not necessarily in the same order. Some of them are 
facing towards the centre while some others are facing outside the 
centre. L is sitting 3rd to the left of K. Both K and L are facing 
towards the outside. H is not an immediate neighbor of K and L. J 
faces just opposite direction of H. (It implies tHunt if H is facing 
towards the centre, J would face outside the centre). J is sitting 2nd 
to the left of H. Both the immediate neighbours of G face just 
opposite direction of G. E is an immediate neighbour of K. Both the 
immediate neighbours of H face just opposite direction of H. E faces 
towards the centre and he is an immediate neighbour of both K and 
I. I faces towards the centre.
Who amongst the following are not facing towards the centre? 

a) E, F and I 
b) F, G and J
c) H, K and L   
d) G, I and J
e) None of these 



Eight persons – E, F, G, H, I, J, K and L are sitting around a circle at 
equidistance but not necessarily in the same order. Some of them are 
facing towards the centre while some others are facing outside the 
centre. L is sitting 3rd to the left of K. Both K and L are facing 
towards the outside. H is not an immediate neighbor of K and L. J 
faces just opposite direction of H. (It implies tHunt if H is facing 
towards the centre, J would face outside the centre). J is sitting 2nd 
to the left of H. Both the immediate neighbours of G face just 
opposite direction of G. E is an immediate neighbour of K. Both the 
immediate neighbours of H face just opposite direction of H. E faces 
towards the centre and he is an immediate neighbour of both K and 
I. I faces towards the centre.
Who among the following is sitting exactly between F and K?   

a) J 
b) I
c) E 
d) G
e) H



Eight persons – E, F, G, H, I, J, K and L are sitting around a circle at 
equidistance but not necessarily in the same order. Some of them are 
facing towards the centre while some others are facing outside the 
centre. L is sitting 3rd to the left of K. Both K and L are facing 
towards the outside. H is not an immediate neighbor of K and L. J 
faces just opposite direction of H. (It implies tHunt if H is facing 
towards the centre, J would face outside the centre). J is sitting 2nd 
to the left of H. Both the immediate neighbours of G face just 
opposite direction of G. E is an immediate neighbour of K. Both the 
immediate neighbours of H face just opposite direction of H. E faces 
towards the centre and he is an immediate neighbour of both K and 
I. I faces towards the centre.
What is the position of G with respect to E?

a) 2nd to the left   
b) 3rd to the right 
c) 4th to the left   
d) 2nd to the right  
e) 5th to the right



Eight persons – E, F, G, H, I, J, K and L are sitting around a circle at 
equidistance but not necessarily in the same order. Some of them are 
facing towards the centre while some others are facing outside the 
centre. L is sitting 3rd to the left of K. Both K and L are facing 
towards the outside. H is not an immediate neighbor of K and L. J 
faces just opposite direction of H. (It implies tHunt if H is facing 
towards the centre, J would face outside the centre). J is sitting 2nd 
to the left of H. Both the immediate neighbours of G face just 
opposite direction of G. E is an immediate neighbour of K. Both the 
immediate neighbours of H face just opposite direction of H. E faces 
towards the centre and he is an immediate neighbour of both K and 
I. I faces towards the centre.
How many persons are sitting between H and K when counted in a 
clockwise direction from H?

a) Three 
b) Four
c) Five 
d) Two
e) One



Eight persons – E, F, G, H, I, J, K and L are sitting around a circle at 
equidistance but not necessarily in the same order. Some of them are 
facing towards the centre while some others are facing outside the 
centre. L is sitting 3rd to the left of K. Both K and L are facing 
towards the outside. H is not an immediate neighbor of K and L. J 
faces just opposite direction of H. (It implies tHunt if H is facing 
towards the centre, J would face outside the centre). J is sitting 2nd 
to the left of H. Both the immediate neighbours of G face just 
opposite direction of G. E is an immediate neighbour of K. Both the 
immediate neighbours of H face just opposite direction of H. E faces 
towards the centre and he is an immediate neighbour of both K and 
I. I faces towards the centre.
Which of the following statements is not true regarding the given 
sitting arrangement? 

a) L is sitting exactly between G and I.   
b) H is sitting 3rd to the right of K.  
c) F and I are sitting just opposite to each other. 
d) E is sitting 3rd to the left of G.  
e) All are true 



428 769 853 682 378

If all the numbers are arranged in descending order, 

what will be the difference between the second digit 

of third number and first digit of second number?

यबद सभी सिंख्याओिं को अिरोही क्रम में व्यिबस्थि बकया िाए, 

िो िीसरी सिंख्या के दूसरे अिंक और दूसरी सिंख्या के पहले अिंक 

के  ीच क्या अिंिर होगा?

a) 2

b) 1

c) 3

d) 4

e) None of these



428 769 853 682 378

If one is subtracted from the first and second digits of 

each number. What will be difference between the 

first digit of the highest number and the first digit of 

the lowest number?

यबद प्रत्येक सिंख्या के पहले और दूसरे अिंक में से एक घटा बदया 

िाए। स से  डी सिंख्या के पहले अिंक और स से छोटी सिंख्या 

के पहले अिंक के  ीच क्या अिंिर होगा?

a) 2

b) 3

c) 4

d) 5

e) None of these



428 769 853 682 378

If in each number the first and the second digits are 

interchanged, which number will be the second 

highest number?

यबद प्रत्येक सिंख्या में पहला और दूसरा अिंक आपस में  दल 

बदया िाए, िो कौन सी सिंख्या दूसरी स से  डी सिंख्या होगी?

a) 853

b) 769

c) 378

d) 682

e) None of these



428 769 853 682 378

If in each number, the first digit is replaced by the 

third digit, second digit is replaced by the first digit 

and third digit is replaced by the second digit then 

which number will be the second highest?

यबद प्रत्येक सिंख्या में, पहले अिंक को िीसरे अिंक से, दूसरे अिंक 

को पहले अिंक से और िीसरे अिंक को दूसरे अिंक से  दल बदया 

िाए, िो कौन सी सिंख्या दूसरी स से  डी सिंख्या होगी?

a) 378

b) 769

c) 682

d) 428

e) None of these



428 769 853 682 378

If in each number all the digits are arranged in 

ascending order, which number will be the second 

lowest?

यबद प्रत्येक सिंख्या में सभी अिंकों को आरोही क्रम में व्यिबस्थि 

बकया िाए, िो कौन सी सिंख्या दूसरी स से बनचली सिंख्या 

होगी?

a) 428

b) 682

c) 853

d) 378

e) None of these








